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Frames & Machines 3 

Example: Determine the x- and y- components of 
the forces at pins A, C and E, assuming P = 15 N 
and Q = 10 N.

P = 15 N

Q = 10 N

I �ME = 0 Q(400) + P (240) = Ax(400) Ax = 19 N

I �MA = 0 P (240) = Ex(400) Ex = 9 N

II �MC = 0 Ay(480) + Q(160) = Ax(160) Ay = 3 N

II �Fx = 0 Ax = Q + Cx Cx = 9 N

II �Fy = 0 Ay = Cy Cy = 3 N

I �Fy = 0 Ay + Ey = P Ey = 12 N

III �MD = 0 Cx(120) + Cy(240) + Ex(120) = Ey(240)

Cx(1) + Cy(2) + Ex(1) = Ey(2)

9(1) + 3(2) + 9(1) = 12(2)

9 + 6 + 9 = 24


